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GEOGRAPHY

Paper II

Time Allowed g 1% Hours] [Maximum Marks : 100

Note :— This question paper contains fifty (50) multiple choice questions. Each

question carries two (2) marks. Attempt all questions.
1. Which one is the most prominent glacial erosion ?
(A) Plucking
(B) Ablation
(C) Abrasion
‘(D) Freezing and Thawing
2. An Inselburg is a :
(A) Mass of resistant rock in a pediplain
(B) Resistant rock mass in a peneplain
(C) Resistant rock mass left uncroded on a Wavecuf: coast
(D) Solitary peak surrounded by snow on ali sides i
3. The term “Albedo” implies the :
(A) Capacity to absorb heat
(B) Capacity to modify the path of solar beam
(C) Proportion of light reflected by the surface

(D) Amount of heat transformed to air by the surface
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4. A local wind blowing in the North Adriatic Coast is i

(A) Chinook B (B) Bora

(C) Burg | (D) Brick Fielder
5. Which of the following is not impportant in classification of Air mass ?

(A) Temperature
(B) Humidity
(C) Source Region
(D) Pressure
6. “Lysimeter” helps in the estimation of :
(A) Wind direction
(B) ‘Evapotranspiration
(C) Relative hﬁmidity
(D) Vapour préssure
7. The sea having the highest level of sélinity is :
(A) Dead Sea " (B) Black Sea

(C) Caspean Sea | (D) Red Sea
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8. Which one of the following is not the Theory of Origin of Tides ?
(A) Equilibrium theoi'y
(B) Progressive wave theory
(C) Stationary wave‘ theory
(D) Convectional current theory
8. Which of the following is not a relief features of oceaﬁ floor ?
(1) Sea mount
(2) Guyots
3) Atolls
Select the correct options :
(A) .(1) oﬂly
(B) (2) only
(C) (3) only
(D) None of the above

10. Which among the following constitute the third trophic level of the food

chain ?
(A) Omnivores (B) Carnivoreé
(C) Herbivores (D) Autotrophs
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11.- Which one o.f the foliowing areas in India is a biodiversity hot spot ?
(A) Sundarban (B_) Western Ghats
(C) Eastern Ghats (D) Gangetic Plains
12.  Who authored the book “Geographica” ?
(A) Thales | (B) Ptolemy
(C) Agarthecides | | (D) | Strabo
13. Who is credited with building the structl;;re of Modern Geography ?
(A) Karl Ritter and A.V. Humboldf
(B) Hartshorne
(C) Emmanual Kant
(D) Carl O. Sauer
14.  Mackinder is well known for his contribution to :
(A) Organic theory of state
(B) Rimland theory
(C) Heartland thebry |

- (D) Landscape concept
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15. Behaviourism in geography is an idea of :
(A) Classical period (B) Greek period
(C) Medieval period (D) Modern period
16. Who has written “Models in Geography” ?
(A) Dickinson
(B) Chorley and Hagget
(C) Brian Berry
(D) Dudley Stamp
17. What is the characteristics of Narmada Velley ?
(A) Glacial origin
(B) Structural origin
(C) Voleanie origin
(D) Wind croded valley
18. Which state is called the “Agricultural Epitome” of India ?
(A}- West Bengal
(B) Uttar Pradesh
(C) Tamil Nadu

(D) Madhya Pradesh
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19. Match the following :

(@)
&)
(c)
(d)

List I

Dodabeta
Annaimudi

Dhupgarh

Guruéhikhar

Choose the corrcet answer :

(A)
(B)
©
1)

20. Match the following :

(@)
®)
(c)
(d)

(@)
(2)
(2)
2
3)

List I
SAIL
BALCO
BPCL
BEL

(b)
(1)
3)
(4)
(2)

(c)
3)
(1
(3)
(1)

Choose the corrcet answer :

(A)
B)
(©
D)

T.B.C. : 06/17/ET—II
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List II
Annamalai
Aravali
Nilgiris

Satpura

List II
Chemicals
Iron and Steel
Electronics

Aluminium
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21.

22,

23.

24.

25.

26.

Rabaris are :

(A) Pastoralists of Gujarat

(B) Fisherman of Kerala

(C) Pastoralists of Tamil Nadu

(D) Shepherds of Nagaland

~ “Opisometer” is used for measuring :

(A) Area (B) Scale
(C) Distance (D) None of these

In “Flow maps” the flow of movement of people and commodities is represented
by :
(A) Circles (B) Ribands

(C) Contours (D) Suitable scales

Polygraph is constrcucted to represent :

(A) Only one variable | (B) Two variables only. '
(C) More than two variables D) None of these
“Azimuthal projections” are : |

(A) False bearing projection

(B) Ture bearing projection

(C) Equal area projection

(D) None of the above
‘GIS’ deals with which kind of data ?
(A) Numeric data \ (B) Binary data

(C) Spatial data (D) Complex data
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27. Unexplained variation is calculated as :
A) 72 (B) r
©) 1-r2 (D) None of these

98. Match the following :

List I List II
Ocean Deeps/Trench Loéactions
(@) .Challenger or Mariana (1) N. Pacific Ocean
Trench
(b) Tonga Trench (2) Central South Pacific Ocean
(¢)  Philippine Trench 3) N.W. Paciﬁc Ocean
(d) Java Trench (4) E. Indian Ocean

Choose the correct answer :

(@) (b) () (d)
(A) 1) (2) (3) 4) .
(B) (1) 3) (2) (4)
(C) 3) (1) (2) (4)€
(D) 3) (2) (1) (4)

29.  Which is the largest speaking language of the world in terms of population

size ?
(A) English | (B) Chinese
(C) *Spanish (D) Hindi
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éO. Who propounded the “Concentric Zone Model” ?
(A) Harris and Ullman (B) Homer Heyt
(C) E.W. Burgess (D)  Victor Jones
31. In Christaller’s “Central place thory” K = 4 represents :
(A) = Administrative principle |
(B) Marketing principle
(C) Transportation principle
(D) None of the above
- 88 'Arrange the following in ascending order in terms of size :
1. City
2. Mega Cities
3. Ciass I Cities
4. Million Cities
(A) 4,1, 3, 2
(B) 3,1, 2,4
© 1,3,4,2

M) 1,2, 3, 4

T.B.C. : 06/17/ET—II 18
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33. Who is regarded as the “Father of Modern Political Geographyf’ ?
(A) Karl Ritter
B) Vi(;al De La Blache
©) ‘Friedrich Ratzel
(D) Emmanual Kant
34. In which country, tropical cyclone is called as “Typhoons” ?
(A) India | + (B) China
(C) U.S.A. (D) Australia
35. What is the common practice involved in “Shifting Cultivation” ?
(A) Use of sophisticated machinery
(B) Large scale use of fertilizers
(C) Clearing of forests
(D) Maximum use of animal power
36. Singhbhum and Keonjhar are the leading producing centres of :
(A) Mica (B) Coal

(C) Manganese (D) Iron-ore
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37.  Which state/U.T. has the lowest density of population in India ?
(A) Arunachal Pradesh
(B) Rajasthan
(C) Andaman and Nicobar Island
(D) Himachal Pradesh
38. The majnr crops grown on red soils in India are the :
(A) Wheat and Ri::e (B) Tea and Jute
(C) Jowar and Ragi | (D) Wheat and Cotton
39. In which state of India does a sizeable population of Lepchas live ?
(A) Himachal Pradesh (B) Sikkim
(C) Manipur ' (D) J &K
40. The northward shist of the ITCZ over India leads to the onset of :
(A) North-East monsoon
(B) Retreating monsoon
(C) South-West monsoon

(D) Westerly Depressions

T.B.C. : 06/17T/ETII 22
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41. Consider the following statements :

(1) Since sixth plan block-level planning has been termed as employment

generation programme.

(2) Gadgil formula was devised to protect the share of states in central

allocation.
Which of the above statements is/are true ?
(A) (1) only
(B) (2) only
(C) Both (1) and (2)
(D) Neither (1) nor (2)
42, The imaginary line joining places with equal amount of salinity ?
(A) Isonephs (B) Isotherms
(C) Isohalines - (D) Isohyets
43. The ‘Moplahs’ are :
(A) Muslims of Kerala
(B) Tribals of Arunachal Pradesh
(C) Muslims of Andhra Pradesh
(D) Tribals of Chhattisgarh
44. The “Yarlung Zangbo River”, in India, is known as :
(A) Ganga (B) Mahanadi
(C) Brahmputra (D) Indus
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45.

46.

47.

48.

49.

50.

The oldest rocks in India are reported from :

(A) Shivalik Range, Punjab

(B) Dharwar Region, Karhataka

(C) Arawali Range, Rajsthan

(M) Vindhyan Range, Madhya Pradesh

The watershed between India and Myanmar is formed by :

(A) Naga Hills (B) Jaintia Hills

(C) Khasi Hills (D) Garo Hills

Which among the following is in Himachal Pradesh 7

(A) Bandipur National Park (B) Balpakram Sanctuary
(C) Chandraprabha Sanctuary (D) Khirganga National Park

Which one of the following is best suited to represent the decadal growth

of population ?

(A) Line graph (B) Bar diagram
(C) Circle diagram _ (D) Flow diagram
Which one is known as “Black Island” ?

(A) Polynesia (B) Micronesia
(C) Melanesia (D) Hawail
Which state has the largest saline wetland in India ?
(A) Gujrat (B) Rajasthan

(C) Haryana (D) Manipur
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